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GCSE Mathematics (Linear} 1380
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulac page will gain NO credit.

p—a—
Area of trapegium = 1{a+ bk
e+
Volume of prism = area of cross section x length @,
]
1 Aeng®
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~
Leave
blank
Answer ALL TWENTY EIGHT questions.
Write your answers in the spaces provided.
You must write down all stages in your working.
You must NOT use¢ a calculator.
The bar chart gives information about the numbers of cows, sheep, horses and chickens
on a farm.
L
W
!
12 ’
10
Frequency 8
6
4 —]
2
0 &
Sheep
(a) ‘Write down the number of horses on. the farm. »
G
)
(b) Write down the number of sheep on the farm. )
0
There are also 7 goats on the farm.
{c) Use this information to complete the bar chart.
1 o
.
{Total 3 marks) |
3
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2. (a) Write the number fifteen thousand, six hundred and seventy two in figures.

{b) Write the number 3020 i words.

ﬂqv%ﬁwmamd&wdﬁww%ﬂ
: 1)

(¢) Write the number 8196 to the nearest hundred.

3 ikﬁl 6 R2.00.....

-
Leave
blank

()
(d) Write down the value of the 6 in the number 236 894 .
6000,
® o
(Total 4 marks) |
3. (a) Measure the length of PO.
Give your answer in cenfimetres.
P Q
i, 5
J O .. Gn
0y
(b) Measure the size of angle x. % 5
)
(¢) What type of angle is angle x ? .
1 Q3

(Total 3 marks)

A 0 R O AR 0 MR




4.  Write these numbers in order of size.
Start with the smallest number.

(@) 7, =, -6, 1, -3

—6 =3 -2 1

Write these mumbers in order of size,
Start with the smailest number.

(by 0.06, 0.35, 0.63, 0.3, 0.56

(1

(Total 2 marks)

™y
Leave
blank

O g
Q4
|

5. Xunal goes to a café.
He can choose one drink and one saack,

Drinks Snacks
Milk Apple
Juice Sandwich
Water Biscuit

One possible combination is (Milk, Apple).
Write down all the possible combinations Kunal can choose.
The first one has been done for you,

M, A) . MY 20 {,M &) (J—A)
(:17 Sy LBy Ol A)
W 5). (N %)

{Total 2 marks)

O AL

5

Turn over



6. Here are some patterns made from sticks.

JANRVAVARVAVAN

Pattern number 1 Patlern number 2 Pattern number 3

{a} In the space below, draw Pattern number 4

/NINS

H
{(b) Complete the table.
Pattern number 1 2 3 4 5
Number of sticks 3 5 7 Cg E i
N, m
. _ L
(¢} How many sticks are in Pattern number 127
' 9
2 x1L bl
' 0

Ben wants to find the number of sticks in Pattern number 100

(@) Write down a method be could use.

obaHem Muwher X2 U
2 KN A =5
e, f&jc‘) w2 + | = 2&‘ (Total 4 marks)

Leave
blank
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7. Here is a list of 8 numbers.
4 7 10 16 18 20 21
From the numbers in the list write down a number that is

(i) an odd number

(i) a multiple of 5

(iil) a square number Lt_ ~ ib

{(iv) a factor of 42

4L = LIKL

32

(Total 4 marks)

Leave
blank

i

8. The diagram shows a shaded rectangle drawn on a centimetre grid.

5

(a) Findthe area of the shaded rectangle.
State the units of vour answer.

5.% =15 cm

(by Find the perimeter of the shaded rectangle.

e

@

5 cm”

{Total 3 marks) |
NSRRI e



9. The table shows some inforination about boxes of cereal on sale in a supermarket,

Cereal Weight of ¥ box Cost of 1 box
Coco Pops 600 g £2.75
Cornflakes 375 80 £126

Frosties 500 g G:L_SQ

Rice Krispies 600 g £2.43
Shreddies 500g £1.85

Leave
blank

{a} How much does a box of Frosties cost?

A box of cereal has a weight 0of 375 2.

(by Write down the name of this cercal.

(orn % lakes

A box of cereal has a weight of 600 g and costs less than £2.50

(¢) Write down the name of this cereal.

Ed buys
one box of Coco Pops
and  two boxes of Shreddies.

(d) How much motey in total does Ed spend?
ii@i;w Pcﬁf% £ 2

€ shreddies
fﬁ) ) = 3. H0 + %]

Ao
2.9 Lo 49

(Total 5 marks)
U VAT KRR




Leave
blank
10.
Vi
— 4
31 ﬁp
2K
1 4. —
-4 3 2 - 0 2 3 a4
1
A 2
R :
-3
4
(a) Write down the coordinates of the point P.
(®H
(by (1) Om the grid, plot the point (1, 2).
Label the point Q.
(i) On the grid, plot the point (3, -2).
Label the point R.
@ o1
a
(Total 3 marks) 1
9
N B U T e Tuen over
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11. James has 9 cards.
Each card has a shape drawn on it.
Each shape is a circle & or a square B or a triangle A,

el =

James takes a card al random.

(i) Which shape is most likely to be on the card?

___§€§_@£&_§T@___.._..

(if) What is the probability that James takes a card that has a square B on it?

P{ S;ﬂfg%ﬁﬁ%"%} - % ;'gf ;55

(Total 3 marks)

Leave
blank

1t

12. Alan recorded the numbers of text messages sent by 7 people one day.
6 g 15 4 8 12 6

(2} Find the mode.

A8]
(b} Work out the range.
15 ~ 4 = 1 R |
' (2}
{c) Find the mediau, ' ]
A4 g,/ ¢ 3 o 1] 3

(Total 4 marks)

Q12
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13. The tabie shows the percentage of each type of book in a library.

Type of book Percentage
Children’s 24%
General 42%
Mystery 3%
Romance 13%
Science fiction 2%
Thriller 4%

(a) What type of book has the smallest percentage?

Stence fic
@

{b) Write 13% as a decimal.
15 -o. i3
ot

(e} Write 24% as a fraction.
Give your answer in its simplest form.

247 ¢

Iels .. 25

There are 3000 books in the library,

(d} Work out 15% of 3000

15 » 3ggo= i5x3 =450
5P '
R o/ is 300

57, 15 i50

B .

[S% s 450

)

el

(1)
€
TSy

@

{Total 6 marks)

heon

013
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14. Tanaka says ‘When you multiply an odd number and an even number together, you will
always get an odd number’.

Show that Tanaka is wrong,
pdd xK evew = ven
L % A =06
5 x4 T 20
e

Toanaha 15 w mmg 3

(Total 2 marks)

Dblank

0




Leave

blank

Diagram NOT

w d accurately drawn

{(a} (i) Write down the value of x.

(il Give a reason for your answer.

m._f;zr)a&i.if;f...gm.ﬁ.im......q.r.a....Q.g;l_u.a.!...v..__..._..._...

2)
Diagram NOT
accurately drawn
P R
£
PQOR is a straight line. :H‘)
Pr=PrQ, o
- o = T

(by () Work out the value of y. ef:_, ?Q ! ! gi} i

Cﬂf"iﬂi%vﬂgmjhl‘ Livie "’\‘lg()
/A B PT 1soceles ‘ P
y = 180 - (Foxz) = 4¢
b0

(i) Give reasons for your answer,

. Tsocelea A\ amﬁim ks doarne
L PT® - £ PRT =78

- A’Vw fa@nﬁﬁﬁz@hfﬁim + 330
A:fP(:w = i80-ii0= F6

RTE.. {;’A,? uc%@ =

" (Total 6 marks) P]
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16. {ay Simplify p+p+p+p

Wt o

(b} Simplify mxmxm

B=2k+12
k=5

{c) Work out the value of B.

B = 2x5+/2
- Jo +1Z

T =4w-2
T =22
(d) Work out the value of w.
2.9 = LW - 2
2.2 +2 = GW-2+2
2,,,& - é”‘w W=
L= 24 - wo b

m
3
W
22
@
.......................... 5

(Total 6 marks)

Q16

i

14
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Leave1
blank
17. Here is a quadrilateral.
(a} Write down the mathematical name of this quadrilateral. )
Sate
1)
{b) On the grid below, show how the shaded shape can tessellate.
You should drasw at least six shapes.
v/ /\ . f?\ﬁ -\
/ NS NOA TN /
Y INGINA /)
NIONT AN,
¥,
. / \ ﬂy/f/’
' @ |17
{Total 3 marks)
15

O e



blank
18. Lesley goes to the cinema.

The film starts at 18 10 ! o
The film lasts for 135 minutes. == 1 2. ynn + 12 My
= 2 hrsIDmn

(a) At what time does the film finish?

e N
T s t
{ oy £
; 20 25

3
There are 300 people in the cinema.
_ 34’3 ”
—é of the 300 people are boys. = éf 4 35;){} k. .;aim Y Boxic = g‘“ Al
: ¢ i
. B - SR
%ofthe 300 people are girls. =, ?2_,, #“ 3&:}_{} e %m .o 3 = PO
1o - o

The rest of the people are adults.

{b) Work out how many people are adults. ' ‘
10@"3% v %% s = Qo+ 5c =140
Adulls = doe —1%0

218

(Total 7 marks)

-,
Leave

16
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Leave
blank
19. Nigel travelied from his home to his friend’s house 40 km away.
Nigel stayed for some time at his friend’s house before returning home.
Here is a distance-time graph for Nigel’s journey,
40 -5 :
i ATAY P
i =
/ o
2 -
30
Distance from y %
home {km) i \
et !I' - \‘ -
20 i e
Fimms
Lo LY
10 i e
F 4 LY
B
F .
A :
10 06 ’I‘ 1020 1040 1100 @010 1140
. Time
i
(2} At what time did Nigel leave home?
loio
M
(b) How far was Nigel from home at 10 207
................. ‘3) km
48]
(c) How many minutes did Nigel spend at his friend’s house?
) .
. " i
MW“\ l@ %L T iie . 5(‘} minutes
o Qe
(Fotal 3 marks)

17
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2 1 2 2
20. {a) Work out EX z - o w;;
3 X5 15
£ 5
7N 5
{®) Work ot ~ + = X3 =+ -
A
= o =
- ;.-:,..,, b =
T 20 Ay 2

-~
Leave
blank

@

(Total 3 marks) —1

21. Here are the weights, in grams, of 16 eggs.

/9,7/ s 56 /5«3"" 7{ I G
s& s s / 5 @ % % |

Draw an ordered stem and leaf diagram to show this information.

You must include a key.

e T |

Key: 6 5 hWigans é i%

(Total 3 marks)

Q21
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22.

Triangle T has been drawn on the gnd.

Rotate triangle T 180° about the point (1, 0.
L.abel the new triangle A.

(Total 2 marks)

cave
blank

N 3 8 7 5 ¢ A 0 1 9 2 4
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23.

i

e
%/

o8 1 2 3 4 5 6 7 & 9 10 X

Descnbc full; the single transformation which maps shape P onto shape Q.
jﬁme wk Scale. {{a [ % wii
. u; witre (. i i})

(Total 3 marks)

Leave

blank

023
T

R RN T O A




24, Anil wants to find out how many DVDs people buy.

He uses this question on a questionnaire,

How many DVDs do you buy?

[ ] ] ] L]

1-5 5-10 10-15 15 -20

Write down two different things wrong with this question.

Gyemﬂanummgmogmﬂf:

. Nefime frame (Perweek/menth )

{Total 2 marks)

Leave
blank

Q24

25. Anna and Bill share £40 in the ratio 2 : 3

Work out how much each person gets.

2 4+3=5 Pa,,r%&

o =5 ‘:i’g (bne Fw’t) .
Avnee = 2x 8 =k

Anna o

TR S <X S

(Total 3 marks)

Q25
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2

Turn over



%, é?ﬂ:ﬁbﬁ - €(;§7Qﬁ

Diagram NOT
accurately drawn

+— 4dem —»

Work out the volume of the triangudar prism.
V{; we = Area c;a.gi CADAS %S-fi%“wﬂ < gtmfj Ha
e 6 x 20 =20 cm?

(Total 2 marks)

e
blank

Q26

27. Work out 4.52 % 36

3¢
e 5

*
£

- _";,
|80
| 440

= [ £2tt

162 T2

(Total 3 marks)

Q27

=
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28. (a) Factorise 3x+12

ZaX+ 3% 4
3(x+4) 3(x+4)

(b Solve  4Q2x—3)=35x+7
Ao2%- Gx3=5x+7F
Y x -2 = oy 4 F
Qo - 5x —l2 = DX -5 FTF

By iz T +
Fx -1 “f‘*!?éz':}i"Hl 9 i

v =i 3%
(¢) Expand and simplify (}i+'4aj§:2“53 ~

=2
y}-;w5<3 thy + 20

R \
g,u_:tﬁg.fé;o

(Total 6 marks)

Leave b
blank

Q28
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